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ECONOMICS
Paper 111
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— The paper contains 75 questions. Attempt all questions. Each question

carries equal marks.
1 According to life cycle hypothesis :
(A) Spend more on consumption when their income is high

(B) Plan their consumption and saving behaviour over long periods with
the intension of allocating their consumption in the best possible way

over the entire life time
(C) Spend on consumption according to their current income
(D) Gear their consumption behaviour to their permanent income
2. What is Investment tax credit 2
(A) A tax on credit
_(B) It is the rate of interest on credit given by the banks
(C) It is government subsidy for investment

(D) None of the above

T.B.C.: 1715/ET—III 2



woF-9% 111
HqHE ;2% W92 [quifs : 150
Az : W wyE-13 # 75 wvd F owdt wA siferd 0 ovEw wes § % mue ¥
1.  wEa-9% Wiieed IEn
(A) Zudm W sfum @d w59 T o9 Hew T

(B) R Sftmg wa # weion d@wifEd oS | H9 39dm = aEes w3 % W

F WY W T W S S9Hr oY awd sEen w1 A S
(C) FF9M JE F AN ITEm W wWH FA
(D) H9A IPET AP W] TE AE O FY H FEE
2. fRost w2
(A) =F1 WU T
(B) ¥ g fed v W W oW W w
(©) v w w=nr % afEs

(D) 3w 8 |/ F§ T
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3. If the production function is

Q=fiK, L)
and the cost function is
C=uwlL+ 7K
then the profit function is :
(A) AK, L) - (wL + rK) (B) PAK, L) — PwL + rK)
(C) PfK, L) — (wL + rK) (D) AK, L) - KwL + rK)

4. Laspeyres, or base-weighted, Price Index is :

>, P 2 Pigy
pig}
(C) %7;:: (D) None of these

5. Even the production function
F(K, L) = AK*LP
where A, o and f§ are positiv; contants :
(A) If o« + B = 1 there are constant returns to scale
(B) If a + B = 1 there are decreasing returns to scale

(C) If @ + B = 1 there are increasing returns to scale

(D) None of the above
T.B.C. : 1715/ET-II1 4



Q = fiK, L)
% aln =g W
C=uwL + rK
T, @ Y HEE OB o
(A) K, L) - (wL + rK) (B) PAK, L) - PwL + rK)
(C) PAK, L) — (wL + rk) (D) AK. L) — KL + rK)

4.  TERE, 91 A9-322, U gIESF § :

2 Py > Pidg
(A) 2 P (B) z B qrt)
.2 Pl
() S 0.9 .(D) T ] FE AR

5.  IERA e
F(K, L) = AR°LY
ol A, o 3l p s feriw % 3
(A) T a+ =1 T8 =a s foer f=d
(B) 7% o+ p=1 = & fow o gem g fed 2
©) 3o+ p=1 Fa s fon w 7gn g e

(D) FodF § ] wE T
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6. If the wutility function

Ulx, y) = x + log y,

then : ;
(A) MRS =x (B) MRS = x/y
(C) MRS = y/x (D) MRS =y
i Each seller determines his price assuming that his oompetibqr will keep his

price constant; under :
(A) Price Leadership Model (B) Bertrand’s Model
(C) Samuelson’s Model (D) Edgeworth Model

8. A.P. Lerner monopoly power index is defined by :

P - AC P - MC
(A) AR B (B) P

MR - MC AC - MC
(C) P (D) AR

9. Quasi-rent may be defined as :
(A) Price — MC . ' (B) Price — ATC

(C) Price — AVC (D) Price — AFC

T.B.C.: 1715/ET—IIL 6



6. gfg T weA

Uk, y) =x + log y

a4
(A) MRS = x (B) MRS = x/y
(C}) MRS = y/x (D) MRS =y

7. vow faha a9 79 W RO w1 ¥, 9% e g Sue wRErt o gee
#, fed o fer w@m 2

(A) ¥ e HiEd (B) ad=w Wew
(C) FeEw wea (D) w=aEd e

8. AP ¥R wwiHaR YRR guHie e g afonfee ¥ 2

P - AC P - MC
(A) AR (B) p

MR - MC AC - MC
(C) — = (D) T AR

9. FaEm-= @ sRafva few s wea o
(A) TEF — MC (B) &4 — ATC

(€C) 5eq — AVC D) =9 — AFC
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10. Who gave the concept of ‘reserve army of labour’ ?
(A) Adam Smith (B) David Ricardo
(C) J.8. Mill (D) Karl Marx

11. Elasticity of substitution is :

—_— Percentage change in K/L
Percentage change in price of K

(A)

where K = capital; and L = labour

d(K/L) r
(B) °=74) "KL

where r = marginal rate of sibstitution
(C) (A) and (B) both
(D) None of the above

12.  If production function is F(K, L) = AKILY, where A = positive constant;

" K = capital; L = labour a and b are constants and greater than 0, then :
(A) elasticity of substitution oy, = 1
(B) ok, = 12
(C) ok, = abd

M og,=0a+Db

T.B.C.: 1715ET—II1 8



10. ‘@ # snfaa A gw wown e oo 2
(A) u=n f=9 (B) gz fiwrs
(C) 38 fo= (D) el W

11. Ufe9my =1 TERYS §
. K/L ¥ wiovm agaa
A K # 754 # wiae seens
K = {Gﬁ L= &

d(KL)  r
(B) = ¢(i(r))foL

o r = ufrgrE 5 g @
(€) (A) 3T (B) 2l
D) I H R}

12. Tfz 37 w99 FK, L) = AK?L? &, st A = v e, K = 96 L = 9
a3t h o 8 0@ fus §, 73

(A) WRFEGT HT TERET oy, = 1
(B) O, = 1/2
(C) OKL = alb

D) ogL=a+b
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13. Foreign Trade Multiplier is given by :

¥ dx
A K= goidm (B) K=
ds +c.’,m

14. Benefits of devaluation for developing countries are best when :
(A) It is accompanied by a decline in short-term interest rates
(B) Developing country’s demand for imports is inelastic
(C) Devaluation brings about price rises in export industries
(D) Foreign demand for the developing country's export is elastic
15. India is not a member of :
(A) ASEAN (B) UNO
©) G-15 ¥y (D) Commonwealth
16. Which of the following countries is not a member of BRICS Nations ?

(A) China (B) Russia

(C) Bangladesh (D) South Africa

T.B.C.: 17T15/ET-III 10



13. fagw =R o e W@ ¥

dy dx
(A) K=ds+dm (B)K:-J;
ds +dm
(€©) K= dy-dm dy D) K =ds +dM

14, fawmyie 39 & fou sEgem & v wEe § 94
(A) ﬂ%’agmmzﬁﬁﬁmmﬁmaﬁ
(B) ¥Em 3 fom fawmeie 39 1 oM syeomyg ¥
(C) Faean frafa =ar # 9o § so@ @ ®
(D) fawrgyier 29 # ol & fou fdell @ veme ®
15. A T we= 78 & 7
(A) ASEAN (B) UNO
(©) G-15 (D) m.
16. Frfafem § | #ww 29 BRICS T 1 we@ 48 & ?
(A) (B) &9

(C) =meRY (D) =faw sEE

TB.C. : 171ET—III 11 P.T.0.



17.  Which of the following Indian States have Population Density of more than

500 person per square km ?

(1)
(2)

(3)

(4)
(A)
(C)

Bihar

West Bengal

Punjab

Kerala

(1), (2) (B) (2), (4)

(1), 3), (4 (D) (1), (2), (3), (4)

18. What is Pareto-efficient tax structure ?

(A)
(B)
(8)

(D)

Tax structure where everyone pays same amount of tax
A tax structure which is based on equal sacrifice

A tax structure when there exists no other tax structure which makes
at least one individual better off without making anyone worse off

A progressive tax structure

19. Kaldor's welfare criterion is :

(A)

(B)
(C)
(D)

a policy that increases total productivity and aggregate income, it is
possible to increase total welfare when those who loose due to policy
change are compensated for the loss, and the rest of the community is
still better off

a policy change that benefits majority of the population
a policy change that benefits the poorest people

a policy change that benefits the entire population equally

T.B.C.: 1715/ET—III 12



17. {55 wndm w59 & SEed 94E 500 A wfa @i e & afiw ¥ 2
(1) faen
(2) ufeas s
(3) H=E
(4) HwE
(A) (1), (2) (B) (2), (4)
(C) (1), (3), (4) (D) (1), (2), (3), (4)
18, WR-gy W @ w ¥ ?
(A) =T @ @ W HT @ USEHE A S §
(B) T @1 St UF auel dferm WosmfE ¥

(©) wx et ol w o St o sifam d T d@ W fEsn A
A, fam ot =1 50 L, S99 9

(D) U I=q9ied & @
19, FeER Fi feawr & # ¥ 2

(A) TE A N wmE IRT R TEd AE wge 8, 9% W 2w @ fE me fe
w7 T @, e A # aeeE @ o g 2 o uf = ekl o

(B) Afma wmema St sfgwin segen & fou vl § '
(©) T seeE S wEs TiE a@ml @ feg, e §

(D) i weEm st gl wEen & fan wee ' A feewdl €
T.B.C.: 1715ET—III 13 P.T.O.



20.

21.

22.

23.

If a function flx;, x;) is homogeneous of degree n, then :
(A) fRhxy, kxs) = kfixy, x5) (B) Akxy, kxy) = 1kfxq, x5)
(C) ARkxy, kxy) = k"fxy, xo) D) Rkxy, kxy) = B~ fxq, x5)

If a production function AK, L) is a homogeneous function of degree n

/s
then :

(A) marginal productivities of K (capital) and L (labour) are not

homogeneous functions
(B) MPg = 0 and MPy, = 0
(C) MPg and MP; are homogeneous functions of degree (n — 1)
(D) (A), (B) and (C) all are correct
Samuelson’s revealed preference hypothesis assumes :
(A) Income Elasticity of Demand is Negative
(B) Income Elasticity of Demand is Positive
(C) Income Elasticity is Irrelevant
(D) None of the above |

If the shape of demand curve is rectangular hyperbola. What is the value

of coefficient of price elasticity of demand is equal to :
(A) Zero (B) Infinity

(C) Undefined (D) One

T.B.C, : 1715/ET—III 14



20. Af% wed flrg, xp), n TER # wH wwmE ® 99
(A) fkxy, kxg) = kflxy, xy) (B) flkxy, kxo) = UVkflxy, %)
©) fkxy, kug) = K¥fley, 15) D) flksy, hxy) = K"~ fxy, 2p)
21, afs s A wed fIK, L), n Temll &1 v wwem & @@
(A) K () #in L (F=m0 1 g Seeha 999a Hed T8 8
(B) MPg = 0 3R MP; = 0
(C) MPg #t MPy feit (n — 1) & ®9em ®er €
M) (A), (B) 791 (C) &% &t &
22, Eogega |ufza afmm ufeeaT Tedl ®
(A) T F AT TAREGA BWOTHE @
(B) ®iIM F AE YARTW HAREE
(C) 3™ Fars #gfea 7

(D) 3vd= § | *rg &

03, Ak WN H W AR FANER AT ¥1 W F God FARGA F H F

e fFas aua § 2
(A) ¥H= (B) ==
(C) suftarfea (D) =

T.B.C.: 1715/ET—II 15 P.T.O.



25.

Ridge lines are the locus of points of isoquants; where the marginal products

of factors production is equal to :

(A) MMmum (B) Equal to one

(C) Zero (D) Greater than one

Market failure is explained by which of the following example(s) :

(A) Demand decreases hence firm have to make more worker redundant
(B) Prices do not includes the full social cost of production

(C) A firm leave the industry as it is unable to find a market for its
product
(D) All of the above
If the production function
Q = AKUL?
then it is : L
(A) homogeneous of degree n
(B) not a homogeneous function

(C) homogeneous of degree A

(D) homogeneous of degree (a+ b)

T:B.C.: 1715/ET—III 16



24, f= omw, goEa=l & fagel & faguy €, ot soma @ o @ dwe 3R

frms = € 2
(A) fbmaq (B) & & w0
(C) = D) T | A=

95, WM FEEEd, Fretatas § 9 fFe ey @ & ®1 W wEd & 2
(A) ®M s § o#a: v @ s sl #) SEEYEE 99 e
(B) ¥&d, SRA ® Y0 Wi oA I wiid @

(C) & Y TEn & 2% T T 9E 9% I SUR @ oY e W YW F @m
9

(D) 394 w4l
26. AT SEEA Fer
Q = AK?LY
Ha: qw ¥ :
(A) feift n & w99
(B) 99w %W T8 ©
(c) feuit A & TuE

(D) feit (@ + b) % GY=@

T.B.C.: 1715/ET—I1II 17 P.T.O.



27. An indifference curve shows all those combinations of two goods amongst

which the consumer is indifferent. The indifference curve will be convex to

the origin if
d?y d%y
(A) 2 <0 (B) Py >0
dzy d"’y
(C) ?d.-’t—z- - (D) 0< Td.—x- <1

28. Autocorrelation means :
(A) disturbance terms are independent of each other
(B) disturbance terms are irrelevance

(C) disturbance terms are interrelated as a result least square estimated

are unbiased but the variance of the estimates is not minimum
(D) dependent and independent variables are perfectly co-related each other
29. Multicollinearity means :

(A) In multiple regression model independent variables X; and Xj are

interrelated
(B) Disturbance terms are interrelated

(C) Mean of disturbance term is not zero

(D) All of the above are true

T.B.C.: 1715/ET—III 18



217.

TH T2 9% 4 WA @ 39 w9t FEheE ) cuia § el fE sudiem serde

% 7o % Iafy & 399 @ gl .

(A)

(©)

=

(A)

(B)

(&)

(D)

fasy ww-g@t ¥ wafug ¢ fows siommesy seasfem seoaq ai froy

§ g sEwer w1 e e W R

fivft it = = WER o= wan gewEtem E O

agattam &1 39 ¥ :

(A)

(B)

(&)

D)

agEaAAY Hisw # WA WX, o X, wew gt ¥
fae &= weRr wEtam #
fariy we =1 ofom y= R

IEw g4t ww &
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30. According to census 2011 which of the following Indian States have sex ratio
higher than the national average ?

(A) Gujrat

(B) Maharashtra

(C) West Bengal (D) All of these

31. Match List I (Institutions) with List II (Year of establishment) and select the
correct answer from the codes given below :

(a)
()
()
(d)

(B)
(C)
D)

List 1
IDBI
SIDBI
IFCI
SEBI
(@) ()
@ (@)
(@) ()
@ (&)
(v) Gu)

List IT
(&) 1988
(i) 1989
(11) 1964
(iv) 1948
@ (@)
(i) (i)
(lw) @)
@ ()

@ @ +

32. Adverse supply shock occurs due to :

(A)
- (B)
(C)
(D)

growth in the economy

increase in income tax

adoption of policy of import substitution

increase in the price of inputs

TB.C.: 1715ET—II
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30. ST 2011 % rgER Freifafen 4 / ey wwd 1oy 1 o o 1t s

q #fys & .
(A) "o (B) weER=
(C) wfysddt = (D) A [sft

81 Wt I (Weum) | e I (e w1 A) ¥ gifew #ifm ot R Ra w w3
F WG W OWE IW gEU

gt 1 gz 11
(@) IDBI (i) 1988
(6) SIDBI (i) 1989
(¢) IFCI (i) 1964
(d) SEBI (iv) 1948

@ B @© (@
(A & @ @ G
B) @) @ G G)
€ G @ @ (G
D) (w) @) @ 6
32. amyfd wew fFw wno B ¥ 7
(A) &4 § 3fz
(B) ame ¥ gfp
(C) =mam wiwames =t =ifa &1 3ifE

(D) f@w & geg & 53
T.B.C.: 17/15/ET—III 21 P.T.O.



33. Natural rate of unemployment is :
(A) rate of unemployment wl;ich would exists even at full employment level
(B) rate of unemployment which occurs due to business cycle
(C) seasonal
(D) due to technological change
34. According to efficiency wage theory many firms may pay :
(A) Lower wages to workers to maximise profit
(B) Minimum wages fixed by the government

(C) Above market clearing wages in order to obtain the loyality of workers

or to provide workers the incentive to work hard to avoid being fight
(D) Wages to workers in kind
35.  If the price elasticity of demand is unity; marginal revenue would be :
(A) Equal to one (B) Equal to zero
(C) Infinity (D) Negative
36. Who prepared Gandhian Plan ?
(A) R.C. Dutt (B) M.N. Roy

(C) Shriman Narayan (D) None of these
T.B.C.: 1715/ET—III ey



33. Awmd = WHAE o ¥ ?
(A) =T F1 T S 9ol P @ W o @
(B) FSIA &1 W W AR F F FRO B &
(€) =% Huq F F7Er §
(D) WEifel aeam ® wno §

34. =W wRgfs fagr & sr@r awga-@t o sEd = £ o
(A) @Y FgR & fau sl B o aftafis 39§
(B) =gFmw Wiafas a@r grn uitsa ¥

(©) Mﬁﬁammﬁmmmﬂw%wnﬂaﬁnﬁmm
% fou W& 37 & fou, s feEiy ofsfms 3 afus

(D) FWTRl # T § it
35. 3R ¥ w1 T TERGS TEa §; 9 9 smme anlt o
(A) T F T «(B) YA F W
(C) 34 (D) BOHH
36. Tl w AeE fHER W ot 2
(A) IRHl. o9 (B) wH.TA. 13

(C) #imT FrrEm (D) =99 A FE TE
T.B.C. : 1715ET—III 23 P.T.O.



37.

39.

Zero-Base Budgeting (ZBB) :

(A) is more logical and leads to better financial management
(B) helps in judicious allocation of scarce resources

(C) is a management concept

(D) implies constructing a budget without any reference to what has gone

before

In the linear programming problem the optimal value of the objective functions

of the primal and the dual :

(A) are negative to each other (B) are different to each other

(C) are equal to each ‘other (D) none of these

Price discrimination is possible and participable only when :

(i) No resale of the commodity.

(ii) Higher price in elastic market and lower price in less elastic market,
(iii) Segmentation of market.

(A) ki) and (iii) (B) (i) and (ii) only

(C) (i) only (D) (&), (7) and (D)

T.B.C.: 1715/ET—III 24



37. “R-#F @9 (ZBB) ¥ ¥ ?
(A) MgFa dfum 399 IR fuw =3 fadg wa=m #1 3R & W ¥
(B)ﬂ!ﬁaﬁ%wmﬁmm%
(C) 7% ¥ava uiwen ¥
(D) wea =0 g2n, @ faw et ded F o7 v w1 fmin & &
38. Y&y Wmfim Wi # wg@ otz ® IYE WeW w1 TReH WH
(A) H TE & faw momeE B) T Tm A= #
(C) T TW & TR ¥ D@ ¥ A FE W
39. Yew ‘RuE dva ¥ iR dgw W o9 4y %, 94
@) W@ w E: e
(i) Wy TR § Ieaw ged ek F9 yERg g § e e
(i) =R w1 faErs
(A) (&) 3 (iti) (B) et (i) AR (id)

(C) =aa (iif) (D) (D), (i) 3 GiD)

T.B.C. : 1715/ET—II1 25 P.T.O.



40.

41,

42.

43.

Arrow’s impossibility theorem is related to :
(A) Adverse selection (B) Moral hazard .
(C) Voting paradox (D) Imperfect information

Cournot Model is based on the following assumptions. Select the correct answer

from the codes given below :

() Duopoly

(iz) Given the rival output
(ifif) Both firms maximise profit

(iv) Profit is not objectives of firms

Codes
(A) (i) and (i) only (B) (if) and (iif) only
(C) (i), (ii) and (iii) only (D) All of these

As per census 2011 data which of the following states in India experienced

decadel growth of population lower than the national average :

(A) Bihar (B) Uttar Pradesh

(C) Himachal Pradesh (D) Haryana

“Yellow Revolution” is related to :
(A) Agriculture production (food) (B) Oilseeds production

{C) Egg production (D) Gold production

TB.C.: 1715/ET-II 26



41.

42.

W F sEafan fogm fFeg g=faa § 2
(A) wioms =g (B) Ffas wifam
(C) =fen fadenurg (D) gl g=A

4 Hiew fFrefafes aguel W e §1 9 e w2 § 8 oft s @ 3
=iy

@) safawR

@) wfeg=r frm fean s

) 2w ey W oafus wwd ¥

(v) W B W g TE ¥

a-;z -
(A) Hast (i) 3T (id) (B) ae (i) 3 (iif)
(C) === (i), (i) 3 (iif) (D) 3 |t

STOAT 2011 F FER YRA @ RAY T A TAEE) F e gig F EWE
gty s A s & 2

(A) faer B W OWw
(C) Tewr@ ww (D) wfEmn
‘It Wit feed wEfam & 2

(A FfE sE=a (@) (B) faere swm=A

(C) 3= IEA (D) @ ITEA

T.B.C.: 1715/ET—III 27 P.T.O.



44.  As per Fifth Economic Census 2005 which of the following states have maximum

enterprises 7
(A) Maharashtra (B) Andhra Pradesh
(C) Tamil Nadu (D) West Bengal

45. Which combination(s) in the following diagram is/are also known as ‘bliss

point(s)’ ?
'«
Good Y
0 X
Good X
(A) a and b (B) Only ¢
(C) d,eand f (D) Only f

T.B.C. : 1715/ET—III 28



44, A afds wdgm 2006 & AR Frefafes 4 @ /e o= 9 sfus s=m

€2
(A) ¥WeuTE (B) =% W2V
(C) dfearg (D) iyt ame

45. Trafaten fa3 # 3R S0 e fag Farse saem 8% -

B'{
Good Y
0 X
Good X
(A) a 3R b (B) &9¢ ¢
(C) d,edf (D) =ga f

T.B.C. : 17/15/ET—II1 29 P.T.O.



46,

47.

Saroj’s budget line for good X' and good Y’ have intercepts of 70 units of
good X and 50 units of good Y. If the price of good X’ is Rs. 5 per unit,

calculate the following :

(#) Income of Saroj

(iz) Price of good Y and

(iii) Slope of budget line

(A) (i) 350 (i2) 7 (i) -6/7 (B) () 350 (@) 10 (iid) -5/10
(C) () 350 (ii) 5 (i) —5/5 (D) () 350 (&) 7 (i) —6/7

“We have always known that needless self-interest was bad morals; we

know now that it is bad economics.” This statement was given by :
(A) Harvey Rosan I(B) Pareto
(C) Franklin D. Roosevelt ! (D) J.R. Hicks

The analysis extending the standard IS-LM model to the open economy under

perfect capital mobility has a special name on the name of economist’s :
(A) Simon Kuznets (B) Mundell-Fleming

(C) Franklin (D) J.R. Hicks
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46.

47.

T X AR 2 Y P fau wie # w92 W § 1 X # 70 swEE o e Yy
w50 3FEEl 1 3R 1T X W g 5 v ufa e &, 9 Prafafes & s
Hifey .

(@) §OS = 3

() TS Y ¥ g

(i) =92 T F TR

(A)- (&) 350 (i) 7 (i) -5/7 (B) (&) 350 (it) 10 (7)) -5/10
(C) (&) 350 (if) 5 (iti) —b/5 (D) (@) 350 (&) 7 Gir) —6/7

‘e T BT smmEvmra s wdf gt A L e sm am e B
g qu 4y ¥ 9w weA few fGw a2

(A) =d TEH (B) WA
(C) Fwferm & wvaw @) 3w feaw

S9R i vl & s ge o & fag weeE 1S-LM iee % fawan favem
1 % v a9 feg sdwret & 9 W T o 2

(A) ¥ HIeH (B) H=a-TeE

(C) Ve M) Fam. fesn
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49. The crowding out effect is zero when :

(A) money demand is perfectly interest inelastic, or investment is perfectly

interest elastic
(B) IS curve is falling and LM curve is rising
(C) there is liquidity trap, or investment is perfectly interest elastic
(D) none of the above
50. Average industrial growth rate during eleventh plan period was :
(A) 8.7 (B) 7.2
(C) 96 (D) 65

51.  RBI calculates four components of money supply; M;, My, Mg, M,. Which

one of the following statements is not correct ?

GA)' My = Cirrenicy with publie + Deiaid depoiits with Bailks
(B) M, = M, + Post office saving deposits

(C) Mg=M; + M,

(D) M, = M; + Total post office deposits
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49, wrEfEn W@ uwE ¥ I § o9

(A) w9 F1 WM IgE TY H AW AYERY ¢ g fEw 9gE w9 H =

yoRg ¥
(B) IS 3% fe w1 & % ok LM 9% 3 W@ ¥ 2
(C)’Bﬂwmmtmﬁﬁmmmﬁmm%
(D) 3w d | F
50. ToNEE A we o oitam i 9fg g w2
(A) 8.7 (B) 7.2
(©) 96 (D) 6.5

51. & M M;, My, Mg, M, # =R 3934 %1 RBI sn&ed & &) Frefarea
{4 Fr wyT ol oAl ¥ 2

(A) M, = a1 & Y& §9 + WO 9H 9F ® U
(B) My = M; + EHEC d9a M

(D) My = My + && SrEl 54
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52. Which of the following is/are correct for shifting of base year from 2004-05

to 2011-12 ?

(1) The improvement in data and methods put India at par with international

standards of GDP estimation.

(2) The new series lowered the number rather than typically high upward

revision seen in many countries.
(A) Only (1) (B) Both (1) and (2)
{C) Only (2) ' (D) Neither (1) nor (2)

53. As per Budget Estimate what are the fiscal and primary deficit respectively

as percentage of GDP for the year 2014-15 ?
(A) 4.5 and 1.2 | (B) 4.8 and 1.8
(C) 4.1 and 0.8 (D) 4.5 and 2.7

54. What was the annual average growth of agriculture and allied sectors in India

during 11th five year plan ?
(A) 2.5% (B) 2.8%

(C) 4.1% (D) 3.8%
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52.

54.

R T4 2004-05 9 2011-12 W MWE F9 & 160 Aetaigd 8§ 9 SEerE
wYq WA e ?

(1) GDP 3@%aR $ =g WTH &1 aved 1w, siwegl o fafid & gan
% ¢ g &1 @ W

(2) T FEen 3 g F yEd 3 swhn e & g $8 F B
T Foagm g s HSm TR ¥

(A) = (1) (B) (1) &R (2) 2

(C) HF4 (2) (D) &1 & @

ae AgHET & AIER, 2014-15 & ferw GDP &1 wfoemar & =y fadig s
afi w2 ¥ ?

(A) 4.5 3T 1.2 (B) 4.8 3R 1.8

(C) 4.1 31 0.8 (D) 4.5 3 2.7

aRE H yedl THeany dee @ A By @R guad aF w1 afdes s afe

ot 7
(A) 2.5% (B) 2.8%
(C) 4.1% (D) 3.8%
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55.  Which one of the following is/are correct for the proposed Goods and Services
Tax (GST) ?

(1)

(2)

(3)

(4)
(A)
(©)

GST would be a destination based tax as against the present concept
of origin-based tax.

GST would be applicable on supply of goods and services.

GST would nppl-y on all goods and services except alcohol for human

consumption.
GST will not be applicable on import and export.
Only (3) and (4) (B) Only (1), (2), (3)

Only (1) and (2) M ), (@), 3), 4D

56. The phrase ‘fine-tuning’ used by Water Heller refers to :

(A)
(B)
(8}
(D)

57. (i)

(ii)

(A)

(C)

Government’s role in regulating inflation and unemployment
Government’s role in regulating inflation and employment
Government’s role in regulating deflation and unemployment
Government’s role in regulating inflation and poverty

Keynes expansionary fiscal policies explain that government should

cut taxes and raise spendings to get out of slump.

Keynes contractionary fiscal policies explain that govt. should raise

taxes cut spending to bring the économy out of inflation.
Both (i) and (it) are true (B) Both (i) and (ii) are false

Only (i) is true (D) Only (i) is true
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55. wefaa W@ st fE w3 (GST) @ AR # frereafEn § @ FeEUd we ww
e ?

(1) GST, 7= w2 epenf 2m, S & afmm & sam enifm &1 20 %)
(2) GST =@ &t 3 iR Jan W @
(3) GST, wMa 39dm & fom temma & Sigst I g5 ok Jansdl w aim)
(4) GST 3mam #ik fafe = =& =)
(A) FFd (3) 3T (4) (B) #Fad (1), (2) 3R (3)
(C) @& (1) 3 (2) D) (1), (2), (3) 3 (4)
56, ARl ¥R T 9gEE F9F ‘v wgfn R weiia s g 2
(&) =fr R AT e § awR #@ g
(B) opifg st s fasa 8§ w@R & S
(©) srerfa s FETE F FE e R e
(D) 7t 3 THifg & v 8 @R & g

57. () mmwmﬁimmﬁﬁwﬁﬁwﬁw
A & fow w1 § s ok wd § wgedt HE =)

G e de i il aw e s § B i @ A o ok wd
TR F e TR W o d aded ot wd # s wen it

(A) () oiR (i) o T ¥ (B) (i) & (i) 2 s ¥

(C) Pada (i) T9 & (D) () 99 &
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58. According to Rybezynski Theorem :
(A) Terms of Trade worsen when the country grows
(B) Increase in exports leads to depreciation of exchange rate
(C) International Trade cause factors of production to became costly

(D) If due to growth one of the factor of production increases, other one being
constant. The output of the good using the accumulating factor intensively
will increase and the output of the other factor will decrease in absolute

terms, provided prices of goods and factor remain constant

59. If the national income of the country increases (other thing remaining

constant) the net exports will :

(A) increase

(B) decrease

(C) remain unchanged

(D) increase for sometime and eventually decrease
60. Order the following events in g}oba] trade finance :

(1) Establishment of electronic stock exchange

(2) Formation of WTO

. (3) The first McDonalds
(A) (1), (2), (3) (B) (2), (3), (1)

(C) (3), (1), (2) M) (1), (3), (2)
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a8.

59.

60.

fifss==t fagra F oFqER

(A) =R F OuS MR ETwE B e ¥ 9w %W gig e €

(B) Tmaim % afs @ fafrma = =1 waqes & ®

(Q) FOEE e gEm BN & oy SEwE $ OFE R wRT R

(D) 3k TF IOET F FOF MG F FAO g § 99 590 fen wa ¥ Heew
TR w1 SWAN FE RO WA W frin sweivs w=w F s o g wnewl
# o wo &9 4 %9 @ 9@ avE & v@ S ownE # gem e w®

afz 29 & TS FAA FGgd € (99 A 591 w290 H) @ T%e A9
(A) =@

(B) =&

(C) FpuiTad=m em

(D) =@ |99 & fag agm 3 fex =2m

fava =mm o fag 9 Fofafan wzmed = #9 § 909 .

(1) oA =% wEE F O

(2) WTO & #91

(3) wuw HEErAEE

(A) (1), (2), (3) (B) (2), (3), (1)

(C) (3), (1), (2) M (1) (3) (2)
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61.

62.

Nash equilibrium :
(A) is a strategy for a player which gives maximum pay-off

(B) is a strategy choice for each payer that is best choice for each player

given the other’s equilibrium strategy
(C) is a deminant strategy equilibrium
(D) All of the above
A dominant strategy is :
(A) for which the player’s pay-off is positive
(B) is a best response to any strategy the other players might choose
(C) is a strategy that rarely chose by a player
(D) is a mixed strategy
If U = Ulx, y) = min(ax, By)

(a and B are positive parameters and min means that utility is given by

smaller of the two terms in the ;Y;arent.hesis.)

(A) The indifference curves of the consumer are straight lines
(B) Indifference curves are concave to the origin

(C) The indifference curves vertical straight lines

(D) Indifference curves are L-shaped
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61.

62.

63.

Y AN O 7
(A) TE 3 wlawfed a7 s gfm & S afawan 30 2 ¥

B) 7 v v @ e T e E S e e W # e we
w9 & 3 o W green giaa ot o &

(C) ZE uF wuE g araEs 2

(D) 39=a |4i

TH guEt dee ¥ o

(A) oo fau swiedl #1 wfisfs oo @

(B) ZE fodt den & forg wafwm wfafman 2, g8t wfawrft sgs 987 &1
HFd

(C) =& uH dram T oS A wfaurdt g @gd oW wufE el §
(D) =z fafas g &
e U = Ulx, y) = min(ax, By)

(a 3t B v Sdter & ol min w1 34 ¥ 5 3 3vdm, el | 9wl
#® weg &/ fam o D)

(A) TasiE H1 VA &% W v §
(B) Tvgal 9@, 309 F FETA €
(C) TvE g% e wWie ey §

(D) FvgW a% L-9FR A €
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64. If Ulx, y) = x 4+ In y, what does the indifference map for the utility function
look like ?

(A) The indifference curve here are ‘vertically parallel’

(B) The indifference curves here are ‘horizontally parallel’ for any given level
of y, the MRS is same no matter what the value of x is

(C) Indifference curves are not convex to the origin
(D) Indifference curves are straight lines

65. Public goods in a general equilibrium model sufficient condition is :

n N
(A) ,21 MRS., = MRT,, (B) MRT,, =MRS,, -1
L=
(C) MRS, +1=MRT,, (D) None of these

66, Economic growth shifts the Production Possibility Frontier (PPF) :
(A) down towards right (B) up and to the right
(C) down towards left (D) up towards left

67. A laissez-faire economy is one :

(A) govt. plays a big role in answering the three basic questions what to
produce, how to produce, for whom to produce

(B) in which individuals independently pursue their own self-interest, without

any central direction or regulation

(C) in which government and private sector partially answering three
basic questions of economy what to produce, how to produce, for whom

to produce
(D) None of the above
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64.

65.

66.

67.

#fa Ulx, y) = x + In y, @ swfen wem & fau o s@en da @m 2
(A) AT g% SEAET gEeTE B

(B) T @ afew gurat £, y & Rt 53 =% #, MRS =78 #, 3% fagnoig
7 o oA o R

(C) oIl 9% I0TH H Iuel TE B
(D) =ogan a% He T § §

GE A"y wfzd yaita 2y F st e ¥

(A) é MRS}, = MRT,, (B) MRT, =MRS_ -1
(C) MRS, +1=MRT_ (D) 778 & =i
sifii g, SR W WRER (PPF) sl wl ¥ o
(A) 2, =fE s (B) &9, aifefl #R
() 3, =l e (D) FW, 9 iR

AUA-HR FdFITY T TF ;

(A) 0 IURA HL, HH IEEA T, [HUH (O T+, UH A TG B e
2§ R Teeyel gy s w5 §

(B) forgdl =afam st ofa @ seR o w9 # fa fas S fady o fram
# #d w2

(C) fomd, =91 3= =i, 4 IarT &, Fusd fau zums %, 1§ enids
FHTE WA #1 e SR g o faeft &E g #wifvs ww 3 R
¥ :

(D) 3ugad H | w6
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68. Choose the correct formula for Arc Elasticity :

% QI—QZ.PI"'I‘)L PI-P&.Pli-PQ
(A) P]"Pg Q]"’Qz 0B QI-Q!& Q1+Q2
AP Q; +Q, AQ Q,+Q,

© 3q P +p, D) Xp P + P,

69. “Each duopolists assumes that other keep their prices constant.” This is

correct in the case of :
{A) Edgeworth Model (B) Lorenz’s Curve
(C) Contract Curve (D) Sales Maximization Model

70.  Cost difference method of separating the substitution and income effects of

a price change was proposed by :
(A) JR Hicks and RGD Allen
(B) Eugen Slutsky
(C) F.Y.. Edgeworth
(D) Ernst Engel
71.  Vertical Fiscal Imbalance : «
(A) ‘occurs when the country grows vertically
(B) occurs when taxes are increased and expenditure is decreased
‘ (C) occurs when the burden of tax falls on 'the produéer

(D) occurs when revenue of different levels of government do not match
their expenditure responsibilities
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69.

70.

71.

Arc-Yorya & fou w@ 93 dfie -

Q-Q P +P - P=Pi PP
W S-hats B L—ol2

P-P, Q+Q Q-Q Q +Q,

AP.QJ"'QQ : AQ,Q1+Q2
© 3q P +p, ™ AP P, P,

‘vl ggiifere gem ¥ fF e o e & e vad 31" 9 e wdt fawm
%2 |

(A) uwad Hizd (B) ©ft=s 9%

(C) H=ae a% D) fawa sfusas wtza

Heg uftad &1 wiosars @R o wve & guest 1 e fase iy fes g
wyeaifad & w7

(A) F9m. fewm o ImstE wm
(B) T TE2Ehi

(C) TwEE. uwgd

(D) R T

sty fasfia wwges & g & 7

(A) w9 oY FANT afe = §

(B) ¥ %1 ®g 9 ¥ ¥ @d w9 A Fma ¥
(C) TEEH W OH F UK & OFEE

(D) v& w@n & fafi= @l = s 39 ad TeiaE 3 gafem @ S
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72

73.

74.

75.

Fiscal Federalism :
(A) mean federal form of government

(B) relate to the division of public sector functions and sources of finance

in a logical way among multiple layers of government
(C) relate to finances of the local governments
(D) means state government does not have any right impose taxes
Greater is the degree of monopoly if the cross elasticity of demand is :
(A) Lesser (B) Higher
(C) Infinity (D) No way related
Oligopoly is a market structure characterised by :
(f) Few dominant firms
(ii) Homogeneous or differentiated products

(iti) Interdependence among the firms

(A) (i) only (B) (i) and (ii) only
(C) (D), (i) and (1) (D) (i) and (iit) only
Externalities : y

(A) refer to external effects

(B) refer to beneficial and detrimental effects of actions of one economic unit

(a firm or an individual) on others
(C) refer to effect on private cost

(D) refer to effect of action of a private individual on private cost

T.B.C.: 1715/ETII 46



72.

73.

74.

75.

fasg dwam -

(A) @1 34 & wER w d9€g =9

(B) wES® 4 &d & favwm @k fag =9 =1 w@R F 3gad 9 adyl s
# WEg 6

(C) ¥+ SR ® faw =t w=g & %

(D) = R4 & 5 T WER F F AW B OBE AEFET TH ¥

wHNER W Fife ahaga A G E AR W ow FE v o

(A) FhaFEa FH (B) aiersd 5==

(€) &= (D) Tt ae wraf=m 7 %

Fifeimtet (Tentawr) = arer g & o9 G 669§ e

(i) E2 gwEt BH H

(i) @ @ faiE s ®

(i) H 1 TEEmEeeE |

(A) FFa (i) (B) #&d (i) 3R (i)
(©) (i), (i) T (5ii) (D) wa@ (if) 3T (i)
afedaa &9 wifs s § 2

(A) ==Y W9E H

(B) T anidds s (v w1 =fFrm) 1 fFel &1 aneEsd o afaans 9yE
TR W 931 =
() fast =aa ® waE #

(D) it =faa =1 fan &1 FEt #ma 9 9aE #
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